
 

Ext 5 2g 12

3k 4g to

42 lose 4g 24

Tx 14
x x 2

7

Sus for sc in
5 z 2g 12

10 2 12
Z iz lo

2g 2

se y i
z

Ex2 5 x 2g 24

3x 3g 6

x3 15kt Gg 72

x2 Gx 6g 12

21 a 84
x 81 x 4

21

Simultaneous Linear Equations 2



Sus foo x in

a 2g 24

20 t 2g za

Z 24 20

a ay a

y Z y y 2

Exercise

1 Ax toy 6
3x 5g 7

x2 Gx 10g 14

2x 8
x I x 54

2

Sos for in

414 tog G
16 log 6

105 6 16
log 10
y I y l

so

2 4k t 5g 21

2x 2g to



Xz 8 103 42

5 10x 10g 30

18 72
sc 72 2 4

18

Subfusc in

864 103 42

32 1 toy 42

log Q2 32

Og co

fo 5 1

Exam Standard Question

xa 8x 12g 56

x3 18 123 9

26 c 65

x 65 2.5
26

x 2E



Sub for x in

2 2.5 3g 14

5 Ty 14

3y 14 5

3g 9

y I y 3

x3 9 15 333
x 5 202C 15g 130

t 29 c 203

x 203 7
29

2 7

Sub for in

4G t3y 26
28 1 3y 26

3g 26 28



3g 54

ye 51 g 18
3

Cinema Tickets

3 Adults and 2 children costs 133
5 Adults and children costs 758

How much is an adult ticket

and how much is a child ticket

3A t 2C 33
5A t 4C 58

x GA t 4C 66

A 8

Sos for A in

318 t 2C 33

24 t 2C 33
2C 33 24
2C 9

c I C 4.5
z

Adult 8 Child 4.50


